
Variation in shape for large changes in external poloidal field coil currents 
 
PF1B = +4, PF2L = 0, PF1AL = -2, Ip = 100kA, Hollowness param = 5 
 
Case R Z a PF5 PF3U PF3L PF2U PF1AU  
a 0.9 0 0.5 -0.48 -0.51 -1.01 0.24 0.14  
b 0.75 0 0.5 -0.41 -0.65 -1.4 -0.008 0.055  
 
 
a      b 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 



Variation in shape for large changes in external poloidal field coil currents 
 
PF1B = +4, PF2L = 0, PF1AL = -2, Ip = 100kA, Hollowness param = 5 
 
Case R Z a PF5 PF3U PF3L PF2U PF1AU  
a 0.9 0 0.5 -0.48 -0.51 -1.01 0.24 0.14  
c 0.75 +0.1 0.4 -0.48 -0.44 -1.4 0 -1.0  
 
 
a      c 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
 



 
Case c 
 

 
 
 



Case c 
 

 



TSC run with PF1B at 8kA, PF2L at 2.2kA, PF1AL=0, PF3L=-1kA, PF3U=-0.511kA,
PF2L=0.245kA, PF5=-0.48kA,PF1AU=0.143kA [ April 1, 2005]

             Poloidal flux at 20ms                    Toroidal current

Toroidal current



Injector current

Vessel elements in TSC



Currents in the Passive plates (about 50 to 100 amps x 30)





PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.9,0), Ip=100kA, a =0.5, k=2, d=0.4 
Hollowness parameter = 5 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.85,0), Ip=100kA, a =0.5, k=2, d=0.4 
Hollowness parameter = 5 
 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.85,0), Ip=100kA, a =0.5, k=2, d=0.4 
Hollowness parameter = 5 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.80,0), Ip=100kA, a =0.5, k=2, d=0.4 
Hollowness parameter = 5 
 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.80,0), Ip=100kA, a =0.5, k=2, d=0.4 
Hollowness parameter = 5 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,0), Ip=100kA, a =0.5, k=2, d=0.4 
Hollowness parameter = 5 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,0), Ip=100kA, a =0.5, k=2, d=0.4 
Hollowness parameter = 5 
 

 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,0), Ip=100kA, a =0.4, k=2, d=0.4 
Hollowness parameter = 5 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,0), Ip=100kA, a =0.4, k=2, d=0.4 
Hollowness parameter = 5 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,0), Ip=100 kA, a =0.4, k =2, d=0.4, 
Fix PF5 at -0.48, Hollowness parameter = 5 
 
 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,0), Ip=100 kA, a =0.4, k =2, d=0.4, 
Fix PF5 at -0.48, Hollowness parameter = 5 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,+0.1), Ip=100 kA, a =0.4, k =2, d=0.4, 
Fix PF5 at -0.48, Hollowness parameter = 5 
 

 
 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,+0.1), Ip=100 kA, a =0.4, k =2, d=0.4, 
Fix PF5 at -0.48, Hollowness parameter = 5 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,+0.2), Ip=100 kA, a =0.4, k =2, d=0.4, 
Fix PF5 at -0.48, Hollowness parameter = 5 
 

 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,+0.2), Ip=100 kA, a =0.4, k =2, d=0.4, 
Fix PF5 at -0.48, Hollowness parameter = 5 

 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,+0.3), Ip=100 kA, a =0.4, k =2, d=0.4, 
Fix PF5 at -0.48, Hollowness parameter = 5 

 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,+0.3), Ip=100 kA, a =0.4, k =2, d=0.4, 
Fix PF5 at -0.48, Hollowness parameter = 5 

 
 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,+0.4), Ip=100 kA, a =0.4, k =2, d=0.4, 
Fix PF5 at -0.48, Hollowness parameter = 5 

 



PF1AL = -2, PF1B = +4, PF2L=0, (R,Z) = (0.75,+0.4), Ip=100 kA, a =0.4, k =2, d=0.4, 
Fix PF5 at -0.48, Hollowness parameter = 5 

 
 


